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BACHELOR’S DEGREE PROGRAMME (BDP)
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ELECTIVE COURSE : ECONOMICS

EEC-13 : ELEMENTARY STATISTICAL
METHODS AND SURVEY TECHNIQUES

Time : 3 hours

Maximum Marks : 100
(Weightage : 70%)

Note: Answer two questions from Section A, four
questions from Section B and two questions from

Section C.

SECTION A

1. (a) Distinguish between Time Reversal test
and Factor Reversal test for Index

Numbers. _ 8
(b) Examine with the following data if Fisher’s
ideal index satisfies the Factor Reversal
test : 12
Price No. of units
Item [ 1983|1989 1983 | 1989 | pyq, | Pn9o | Po9n | Pndn
' Po Pn | % dn
I 6 10 | 50 | 56 [ 300 | 500 | 336 | 560
11 2 2 [100| 120 | 200 | 200 | 240 | 240
111 4 6 60 | 60 | 240 | 360 | 240 | 360
IV | 10 | 12 | 30 24 | 300 | 360 | 240 | 288
\"/ 8 12 { 40 | 36 | 320 | 480 | 288 | 432
Total ' 1360(1900| 1344 | 1880
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Explain the concept of stratified random
sampling. What are its advantages and
disadvantages ? Differentiate the use of
Proportional and Disproportional stratified
sampling.

(a) What is Kurtosis ? Distinguish between
Platykurtic, Mesokurtic and Leptokurtic
distributions.

(b) The first four central moments of a

~ distribution are 0, 25, 0-7 and 18-75.
Examine the skewness and kurtosis of the
distribution.

(a) What is meant by secondary data ? What
are the important sources of secondary
data in India ?

(b) What is the difference between Linear
Interpolation method and Compound
Growth Rate method for population
estimation ? If the total population in India
in 1995 was 905 million and in 2005
was 1200 million, calculate the total
population in India in 2000.
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SECTION B

5. (a) Explain the concept of Rejection Region.
How is it different in case of small samples ? 6

(b) A fair die is tossed 7 times. We say that a
toss is a success if a 5 or 6 appears;
otherwise its a failure. What is the
distribution of the random variable X
representing the number of successes out of
the 7 tosses ? What is the probability that
there are exactly 3 successes ? What is the
probability that there are no successes ? 6

6. What are the features of a Normal Distribution ?
Derive the expression for probability density
function of the standard normal variate Z. 12

7. (a) Define product moment correlation
coefficient. ' 6

(b) Compute the product moment correlation
' coefficient between A and B from the
following data : 6

A |23 27 28 29 30 31 33 35 36 39

18 22 23 24 25 26 28 29 30 32

8. What is Regression ? Explain the relationship
between Regression and Correlation. 12
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9. Explain the considerations to be followed for
determining sample size.

10. Suppose a sample of 100 students has mean age
of 12-5 years. Show through diagram the
rejection region at 5% level of significance to test
the hypothesis that the sample has a mean age
greater than the population mean. Assume that
population mean and standard deviation are
10 years and 2 years respectively.
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SECTION C

11. In one sample of 8 observations, the sum of the
squares of deviations of sample values from the
sample mean was 84-4 and in the other sample
of 10 observations, it was 102:6. Test whether
this difference is significant at 5% level. | 6

12. Suppose that 24% of companies in a certain
sector of the economy have announced plans to
expand in the next year (and the other 76% will
not). In a sample of twenty companies chosen at
random drawn from this population, find the
probability that the number of companies which
have announced plans to expand in the next year
will be 6

(a) precisely three
(b) fewer than three
(c) three or mere

(d) precisely five
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13. Distinguish between One-Tail and Two-Tail

tests.

14. Suppose we are given 3 boxes. Box A contains
10 light bulbs of which 4 are defective, Box B
contains 6 bulbs of which 1 is defective, Box C
contains 8 bulbs of which 3 are defective. We
select a box at random and then draw a light
bulb from that box at random. What is the
probability that the bulb is defective ?
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- FTaeh IaTfer wrishw (ft.Edt.)
wTa gder
SH, 2015
s argawn : srdfve
3.3.4%.-13 : yRftres wifeadm

AT - 3 g2 3BT 37 : 100
' (FT IR 70%)
Fz: G F gy, @vg@ﬁwwﬁaﬁr@vgvﬁ
g v & I AT |
WIT &

1. (%) Yuhidl & gy § S IGHAV THE0 3HN
IEH SR TOHU F AW W TR
Hfd | 8

(@) Frafafga stwst 4 wfa e afy e
ATe YaHih, INTH ISHAT THET Hl TG
& 12

fma | R FEAN |

we | 1983| 1989 |1983| 1989 | Polo | Pndo | Poln | Pndn

Po Pn 9 Gn
I 6 10 50 56 300 500 | 836 | 560

Iy 2 2 [100| 120 | 200 | 200 | 240 | 240

I | 4 6 60 60 240 | 360 | 240 | 360

IV| 10 | 12 | 30 24 300 | 360 | 240 | 288

V| 8 12 | 40 36 320 | 480 | 288 | 432
$ed 1360 | 1900 { 1344 | 1880
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2.

wWhd aigfeass dfdeaa &t weeq i e
HIfT | 3@ AW SR QW T 2 T 3R
FEHA A gfe=aq & ST gra A

e FHifT | 20

(%) wpaal (Kurtosis) M & ? TURHFA,
AeAHFE 3N JIhPal del & AR H WL
Hf | 10

(@) &7 % g IR HgE 39 0, 25, 0-7 3N
1875 3 | ¥ H Iyl 3R Hpear i St

- it | 10
(%) fofiae orfest @ = fiw 2 2 wra &
fedias sriel & wewagol @ H-a & 2 6

(@)
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e he & fore Waer sfadwm fafy ok
sy (Compound) qﬁg w fafw & ofiw =
HAR 8 ?A% a¥ 1995 # WA hl o Gl
905 Taferm o ad 2005 § 1200 fferm o,
@ 9 2000 # WRA H Pt qUR () F
gitepfera i | 14



Wis g

5. (as} fRTha (Rejection) & i TeheaaT i RS
e | oy et F Am 4, a8 F e
27 6

(@) Us 3@ 9@ * 7 IR IS FIT § | EHA
g # Ife 5971 6 3T A IV WA HHT ST
=T S | 7 IO o | B IV GEAT
%! A e AEREH T X F qe A 491 7 ?
iR w1 ? % &% 3 wwa o™ @ ?
iferan #1 8 f6 i a%e W A | ? 6

6. TEMH WA H favwad w1 2 UMe TEWR
forer z % wifierar w9 we[ % e 5ot Yoaa

HIT | 12
7. (F) TFHA Y FgEE-Y TR H IR
Hife | 4 6
(@) fafafga sifwst & & of ok 9 F &9 EwA
et wEeray U aiteRford I 6

H (23 27 28 29 30 31 33 35 36 39

18 22 23 24 25 26 28 29 30 32

8. GUINAY FT 2 ? IV IR GEEEY & qEY
o =g HRT | 12
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9. wide kR 1 fuiwn % & for fomt foramofia
fergati =1 srgeror feban St 2 2 sawe Hifv |

10. 9 T fob 100 feenfa & wfiest €t wen 3y

125 a8 2 | 39 Uieheut & qhww & fow 6

yfoed 1 wew oy, gEfe mew d s R,
frowa &7 % W@t @ quise |l W 1 w1
5% B | A Sifore o nfse A i Ave foaed
Hue: 1099 ot 29 & |

EEC-13 10

12

12



QT

11. 8 Y& & U ufdey o, yfaeet urew @ yfeest =i
% forere & ol %1 ITHA 84-4 A1 IR 10 IOl
F o yidew #, I8 102-6 o1 | qhew Hifvw %
A1 TE IR 5% TR R wrefeh & A1 7 | 6

12. U i & sredeaasen & frdt @@ 83 Y 24%
HufEt 3 It a9y § Aisrren & fawar o
$ 3 (Fafe = 76% tEr 78 w4A) | 39 AR A
Igfos® ¥ 4 =@la 20 w9FEl & gfagd
yiRehar &1 uar emge fe SRt @ o
AR Y SO R el HaE s

gt 6

(%) @ saAdA
(@) da=n
C (M) i et

(a) &9 H U
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13. WS R fiy=s whawi & W &l W
i | 6

14. U S 6 sk o 3 femm 8 | fosd & H
10 fosreft & wew &, fd @ 4 Qoqut §, fosm @ o
6 9 8, o & 1 Qg B, fesat 1 4 8 wew §,
i @ 3 Jupt 3 | 3w Agfe® w0 A fesa.
1 9 Fd g 3 39 foodl @ Agfons w1 @ @&
foareht &1 sew feterd € | Wik w1 ? % wew

grgut 7 2 , 6
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